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S²Ì!“þ!Ýþ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þîûV 
 

„þéôé!î¦þy† 
1Ð öëöì„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yçƒ [1×5] 

 „þV ›y!ÝÅþ˜ œ%íyîû ¢Á™öì„Åþ ~„þ!Ýþ ¢‚!Çþ® Ýþ#„þy öœ…Ð 
 …V òxy!” !ŸÒyëûé˜ó îœöì“þ !„þ öîyGþÚ 
 

2Ð öëöì„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yçƒ [1×20] 

 „þV ò›)œÄ !îÒîó îœöì“þ !„þ öîyGþÚ £zvþzöìîûyþ™#ëû ¢›y‹ ç xíÅ˜#!“þöì“þ ›)œÄ !î²Õöìîîû šþœyšþœ xyöìœy‰þ˜y „þöìîûyÐ [12+8] 
 …V !îKþyöì˜îû £z!“þ£yöì¢ !îKþy˜ xÄy„þyöìvþ›# ç ö¢y¢y£z!Ýþ=!œ !„þ ¦)þ!›„þy þ™yœ˜ „þöìîû!ŠéœÚ [20] 
 

…éôé!î¦þy† 
3Ð öëöì„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yçƒ [1×5] 

 „þV vþy£z!›çöì”îû ¢Á™öì„Åþ ~„þ!Ýþ Ýþ#„þy öœ…Ð 
 …V ¢y›%îûy£zöì”îû ¢Á™öì„Åþ ~„þ!Ýþ Ýþ#„þy öœ…Ð 
 

4Ð öëöì„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yçƒ [1×20] 

 „þV „þöì›yvþîû öþ™îû#îû xy†›öì˜îû þ™)öìîÅ !„þ !„þ „þyîûöì’ öŸy=˜“þöìsþfîû !¦þ“þ ”%îÅœ £öìëû !†öìëû!ŠéœÚ öŸy=˜“þöìsþfîû þ™“þöì˜îû “þyêÇþ!’„þ 
„þyîû’=!œ !„þ !ŠéœÚ [12+8] 

 …V ö›£z!‹ ‹yþ™yöì˜ ²Ì‰þ!œ“þ ¢y›hsþ“þöìsþfîû vþzþ™îû „,þ!¡ì ¢‚ßþñyöìîûîû ²Ì¦þyî þ™ëÅyöìœy‰þ˜y „þîûÐ [20] 
 

English Version 

[Use a separate answer book for each group] 

Group – A 
 

1. Answer any one question : [1×5] 

 a) Write a short note on Martin Luther. 

 b) What do you mean by ‘proto-industrialization’? 
 

2. Answer any one question : [1×20] 

 a) What do you mean by ‘price revolution’? What was the impact of the price revolution on 16
th

 

century European economy and society? [12+8] 

 b) What role did the Scientific Societies and Academies play in the history of science? [20] 
 

Group – B 
 

3. Answer any one question : [1×5] 

 a) Write a short note on the Dimyos. 

 b) Write a short note on the Samurai. 
 

4. Answer any one question : [1×20] 

 a) What were the major factors responsible for the weakness of the Shogunate before the arrival of 

Commodore Perry? What were the immediate causes of the downfall of the Shogunate? [12+8] 

 b) Assess the impact of agrarian reforms in Meiji Japan on prevailing feudal order. [20] 

———— × ———— 


